R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, TX-4225

Endura

PR ODUTCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject fo further engineering
analysis.
TABLE OF CONTENTS
SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Astragal details (Ultimate Flip Lever)
3 Astragal details (Ultimate Multi-point)
4 Astragal details (Ultimate Hurricane)
5 Door panel details (lip lite insert glazing)
é Horizontal cross sections
7 Vertical cross sections
8 Frame anchoring

73.94" MAX. FRAME WIDTH

97.69" MAX. O.A. FRAME HEIGHT (INSWING)
96.88" MAX. O.A. FRAME HEIGHT (OUTSWING)

000y

No INSWING +25.0 -30.0 +40.0 -40.6 +350 ‘7-140.0
OUTSWING +25.0 -25.0 +40.0 -40.0 +35.0 -35.0

INSWING +35.0 -35.0 N/A N/A N/A N/A

" OUTSWING | +35.0 -35.0 N/A N/A N/A N/A

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS
BY

REVISIONS

5/05/15 |ADD _NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

2
1

NOJ| DATE

oATE: 8,/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4225

sHEer 1 oF 8

© zo12 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOO aNIgling "Mm*'d 2102 @

Tt E ol o S, (3037 dns 3uTn) g — SIv3 Ton
STVLIA WOVHLSY P P PP B
— . S TIIS_ONLYINOLSY a3aav] vi/e0/t] L | |4|X(R] Q|7
G6SEC 14 OOMIDA OSZ XO8 ‘0'd \Su@. KIBNISSY ¥0 L¥vd [S37[ 39nidvo Nid_Tvowellsv maN_aav|si/so/s| 2 |5 | 7], S| 8
"ONI ‘SINVLINSNOD ONIGTINg J = g | 2_
SZIYOL# 'I'd Svxal Y4NAN3 a2 M w t 7 g
‘3'd ‘PIWYDS 4 uopul :Ag peupdeid sjuswnoog -10Naoyd _MI m W w W W._
WOLLOg -
i
« ~N
& w_+
B 2 .
.mmhmw\.__\%:: et /“H.oh.‘ (H ~N k+|
{3, veeastl g °
Nﬁ.m,m.,%mo .uwgc.c 5
OO~ £ e
Ll mO m ~ m .ﬁ“u
= 52
Ve g o
f o uD _ :WN._.
5 = y
! ¥y N
N
" w
=)
o
0

W99°C

ANCHOR SCREW LOCATIONS
=
HARDWARE LOCATIONS

N~ —- - = —p
63.0"
76.0"
93.75"
I

1.82"
0.063" ——{ [=—

b4

é @ —

Astragal Section

|~—1.75"
7 5II

i —
= =
-

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS

dOl

(2)#6-32 X 5/8" MACHINE SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

g
829
ote W
> =
g= 5
< Z — 2
= \ //
[ ® @)
wn
3 ]
3 >
\D/ |I|\I\ S £ <C
=2 oz
c
& ~— = LLI
N N ¥ e Y
Y7 ] < |
()]
o o
] —
> ...m L
2 ¥e) LLI
o @ —
= ¢ <
£ g =
5 —
< =

T e e e N N

\ ! N S e > N— SRR e

"

Upper Bolt Sleeve - Aluminum

Z-2 'BMpLz-vezy-X1\WualnD\sBumela\0gg - IL\su] Jo 1da@ sexa \LNINVINYId BInpua\siudlD\y



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 3-2

—
LSS
e

N

)
h—

e
i

D
'

=03

=

o e meeeeee—————

< N I

N ~

\

Lower Bolt Sleeve - Aluminum

Jai
\
\

ULTIMATE MULTI-POINT ASTRAGAL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

>
1 4
q T ~ (2)#6-32 X 5/8" MACHINE SCREWS

2.65"

0.063" —
l

AL

—

ASDCNEU Y
Upper Bolt Sleeve - Aluminum S i gl LL:Q
P T iz i
| Sone AT
\'\ 5’1\[{/:: r\ e é U E.
Sui g 0
N AN
2 O
1 51;113\}5..‘. :% :
1 (le{" wix o5
Wi
NI / (2#8X1-1/2"
! \ PFH WOOD SCREWS Frrone = - - = o= _,Jﬁ
Sl 2.25" ——
Upper Latch - Reinf Resin | = N\
(2)#6-32 X 5/8" MACHINE SCREWS 0 33.75
(4)#8 X 3" PFH WOOD SCREWS 00 52.0" -
a. 63.0" s
A O 76.0" 8
93.75"
(@)
@
ANCHOR SCREW LOCATIONS
Upper Latch Lower Latch
Latch Actuator
Steel
’ I 1] n — H: o :E:: To i
A —— |=—175" 175" —— [=— -
R ™ 26.0"
35.5" LATCH
I 41" DEADBOLT
| ‘ Upper/Lower Bolt Actuator Lever - Zinc HARDWARE LOCATIONS
(2)#8 X 1-1/2" PFH WOOD SCREWS
(2)#8 X 1-1/2" PFH WOOD SCREWS
Lower Latch - Reinf Resin e 1.82" -
i 2 /
’ Aluminum Body N -.'I”'”’

1.78"

1

Astragal Section

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

ASTRAGAL DETAILS
(ULTIMATE MULTI—POINT)

LFS
BY

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

NO| DATE

1

oN

REVISIONS

DATE: 8/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4225

SHEET 3 oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.



‘ON] SANVLINSNOZJ aNIaing *Mm*y 8002 (@)

ZS8LL—d4 # NOLLWVMLSIOZY 40 3LVOI4ILLYTO SNOISIATY
SYIINIONI TVNOISSIH0¥d 40 Q¥vOd SVX3L GM«@W&%@«%&@QW@E Ad 31vd |ON| &% 8_
T ——— . S41 17S ONILYINOILYY a3aav| +1/60/1L | | IR =
S6SEE 14 O9UIPA 0EZ X0 ‘O'd \H\w@. AIBWISSV 80 Tdvd [ 541 39nLdv0 Nid Tvovelsy MaN_aav| si/so/s| z |S|5| |7, o | 5
"ONI ‘SINVLINSNOD ONIGINg N = g | 4_
te) sl X
SZLYOL# "3'd Svxal VdNAan3 ai | 9 H 2E7 |
"3'd IPILYSS ‘4 UOPUAT kg peupdeld sjuewnoog :1oNaoyd HEIEIEAE: i
Stns LS
o )‘on\.mw.x,
CBENID)s ..:,.\.(«va.
PR ...uu
ezIPOL L <
2 .........1........ ........... nw &
LQIWHOS 3 NOGN AL S = =
................ o iy =
ww\h«/ Srg a m
k.l..,m - Gy oo = L
............ A = ~
nJ...W‘.\- H.mo Mw%\ﬂ.\.(.lﬂ( o9 m
Hrannat = @
mn = —
ISRY] woLlog W E
47 2
2
[-X-] D
e <C
mU — L
n == (@)
m ANEAY m
<C
"0 H
2 1 S
o .Rl.u M
= L
3 = 2
b [
N (& m
i = o
i 05 &
™ 00 A >
g |° || 2 ©
] m +*=
@)
-
. 5
<
oz
&S
<
=
=)
Z
L.y =
Y =2
o
] <
>
- | | 2
e} 2 hou m >
= - 2 £
S n 38 g By £
m © <5 < = 2
- m 3 <5 n s
= L= <9 Z|5
% = <|S 2% g o
oz ={hw S 5 — |5
O m - 2 -1
@) 3 =
Z < 2 <
& 5 050— |=— 1=
=) © m a
i 2
5 Z 5
O I =
o = w
O = [a
2 2 3
o
-]
:NMU.O i _‘|
S — -
0 3
= <
° - pe
Ols 59T <
\ |0 2
-
s 3 W\ AIU._ R ﬁ/ <
io A\ 2 O
N o0 |i—= v &
el wi< W a oz
N = (| M =
Q3 = T
o i o 7] T
N — =
o g
= L =
L =
_ " 3
(-]
(-X)
b R
i b 2 vV
bR —_—
i B dOl
N

2 'BMpLZ-pzzy-X L\udunD\sBuimela\0gg - IA.L\sul Jo 1daq sexa I\LNINVINYId BINPUI\SIUsID\Y



R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 5-2

95" MAX. DOOR

| e— ‘|l| 3"
_/_\__/
/—\/‘
/\/-
/_\_/

LATCH STILE 12" LONG
(LVL) LOCK BLOCK
(WOOD)
35.75" MAX.
PANEL WIDTH
21.0" MAX
D.L.O. WIDTH S
5
T x5
o =2E 10
4 20 7 X 5/
zZ N~
< o
o
>
JELD-WEN
Insert Glazed
(steel)

| 1" ——]
INTERIOR (0P RAL
f (WOOD) ™\
= S S = T E't\)
EXTERIOR \

— 1" ——]

m HORIZONTAL CROSS SECTION

\58/

#6 X 1-1/2" PH SMS

GLASS BITE 7/16"
INTERIOR
——1/2" NOMINAL GLASS THK.
| 1/8' TEMPERED GLASS
‘/ \;ﬁ AIR SPACE
X ~~—1/8" TEMPERED GLASS
STEEL SPACER
EXTERIOR QSO SEALANT
LOW TACK SEALANT
GLAZING DETAIL

G1

Lip Lite Insert Glazing

HINGE STILE

(LVL)

STEEL SKIN
(0.02" MIN.)

INTERIOR

FOAM CORE
(POLYSTYRENE)

BOTTOM RAIL
(STEEL)

1/

"

\\
W

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

EXTERIOR

7“2\ VERTICAL CROSS SECTION

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

ENDURA
DOOR_PANEL DETAILS
(LIP LITE INSERT GLAZING)

PRODUCT:

LFS
BY

REVISIONS

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

1

N

NOJ| DATE

OATE: 8/20/12

SCALE:  N.T.S.

DWG. BY: JK

\8/

CHK. BY: LFS

DRAWING NO.:
TX—4225

SHEET 5 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27 dwg, 6-2

1/4" MAX.
SHIM SPACE

EXT. SHEATHING

0.15"

C.a

T
+
e s — —

2X FRAMING ==

(G >=0.42) x

L, JAMB

~— C'SINK
(TYP.)

#10 X 2.5" PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

(QEBD 450)

N

DRYWALL —/

#8 X 2.5" PFH WOOD SCREW /

#8 X 3/4" PFH SMS

\

7“1\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

#8 X 1" PFH SMS

4" HINGE

INTERIOR

EXTERIOR

SURFACE BOLT: IVES 454
(Attached w/ four 2.5" bolts)

P

REGEER

/

; o 3 B e
o o . <N
/ <
// i, Fxin i vF
£ ga. & Do
// i \:\;\.*

| DEADBOLT: KWIKSET SIGNATURE SERIES

O !
| (980/985)
/ |~ LATCH: KWIKSET SIGNATURE SERIES
/ (991)
V4
v

ENDURA WEATHERSTRIP

CORNER PADS (TYP.)

/

30450
\INAIAL/

ULTIMATE MULTI-POINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

(QEBD/PE 650)

/ DOOR PANEL

\\

A\

#8 X 3" PFH WS
#8 X 1"PFH WS

@ HORIZONTAL CROSS SECTION
6

b
g
-
o< [7)
29 T
Ex 2 uww
8. M Z:
X E2M 2
h:ﬂ. = .[a e
c &.dv— é*
[} om
3 Z9%9g 22
< = oo
SF FTW GE
Lo 459 9
a>w "’é
= [t
Z0m0 gW®
5 8R. o
) ONS oW
oxz &
he) o [T
o Znn Ol
e g 2 (<)
a =g6 9
o 59 ¢ %E
& [ 33
o L§ e
b
5 E
2 L
3
0
<}
[a]
(%)
=
28
<< EQ
o =
> St
= N o
oz
L 08
Ty
.. o
ol
o
=
o
o
x
o
vl P
15

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

—

NO,| DATE

2

REVISIONS

oaTE: 8,/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4225

SHEET 6 oF 8

© zo12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 7-2

\,_ - >(_
2 ~

EXT. SHEATHING \ ,

1/4" MAX.

SHIMSPACE Ll

2X FRAMING
(G >=0.42)

/ DRYWALL

— #10 X 2.5" PFH

WOOD SCREW

0.15"
C'SINK
(TYP.)

DOOR PANEL \

\\ HEAD

ui

ENDURA WEATHERSTRIP

(QEBD/PE 650)

EXTERIOR W INTERIOR

m VERTICAL CROSS SECTION

U Outswing shown inswing
also approved

// //
INTERIOR DOOR PANEL EXTERIOR EXTERIOR INTERIOR EXTERIOR INTERIOR
ENDURA WEATHERSTRIP x
(QEBD/PE 650) DOOR PANEL DOOR PANEL

ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP \

(Z-SERIES OUTSWING) (DBK-R) (DBK-AC)

LOB4565FN (shown) ENDURA THRESHOLD ENDURA THRESHOLD '|\ i‘

(Z-SERIES INSWING ADJUSTABLE) (Z-SERIES INSWING ARTICULATING) ”*@ﬁj
ZAI4565FN (shown) ZAC4565FN (shown) ,.-’/i‘

(Z-SERIES INSWING ARTICULATING

EXTERIOR / INTERIOR

DOOR PANEL
ENDURA DOOR SWEEP \
(DBK-ZAC)
ENDURA THRESHOLD §

SILL w/ PIN CAPTURE)
#ZACL4565 (shown)

d

[T

=

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

/"5 \ VERTICAL CROSS SECTION

\y Inswing configuration

L
R
S 0
o
L o 59
£* [} W o
0] n Z v~
) ol o©F
wo2n 21
h:ﬂ. = 'B s
52 gda =
S 8a ZZ
O 0
gl"—’ Sty Q09
2 Jg0 ok
535 98
(7 B tl
Zo0m 05
om o
IJ>J‘ O N - o
o (4
o 232 un
 §%¢0 96
c
g_ :'o'o [a]
® 3Iois %E
o oo 06
: 2
5 %’E
E @ o
3 =
[+
o

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS
Y

AR T

&

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4' ELCO OR
ITW CONCRETE SCREW

7“2\ VERTICAL CROSS SECTION

w Outswing shown

7“3\ VERTICAL CROSS SECTION

I
II i
T \

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

#10 X 2.5" PFH WOOD SCREW

1/4"' X 2-3/4'ELCO OR

ITW CONCRETE SCREW

/“ 4\ VERTICAL CROSS SECTION

w Inswing configuration

\U Inswing configuration

REVISIONS

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/09/14 |ADDED ARTICULATING SILL

o —

NOJ| DATE

OATE: 8,/20/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4225

SHEET 7/ ofF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 630\Drawings\Current\TX-4224-27.dwg, 8-2

o 2X framing (by others Astragal Strike Plate ~ Surface Bolf Strike . Surface Bolt Strike b
3 &z HIFE ) @ Hegd Japb Plate @ Head Jamb  Astragal Strike Plate  piate @ Head Jamb 20Oy, o "
oo @ Head Jamb ot H 83 o E
NO ¥ ¢ & £ S E5 g9 uwe
N O Y 2!! - | ’:,4.,‘__ 0 , ) Z:
e 8 —— (TYP) r';'LL,\- 0 ui 2 M % 0
(TYP.) 4" / —l o ;k.:o wt = |f g e
—= I‘* = Q © ¢ = m ‘j L. - g b %
o _ (TYP.) == °°e = féO:. $x g 83 <.
| SEEHINGE T — ‘\T FZ \‘\ ]/ o 5 558 o2
bt DETAIL 1 — - — i, ini 50 {E
T | #10X 2.5" PFH %2‘5'),"'-3} Py > @ gR® g9
z . " DErA]L ] = 1 N ‘;(:_ f 1 1_':."' by O N -
R WOOD SCREW " =g #10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW Mg e P I
=] (TYP. @ HEAD b = DETAIL 1 DETAIL 1 g 57226
AND JAMBS) Outswin gy e 392 zp
U g Inswing ¢ QDo 3¢
. q —— o L§ e,
9 ] \Ii I 1/2" DIA. HOLE Surface Bolt Strike E gg
w H, -I ] 1" w . g
\ #10 X 2.5" PFH WOOD SCREW \ g : SOl
/ = ;
;Q. : — || — 4 '_ ‘ %
SEE HINGE ' ' T \ T S
é » /O [©)
i DETAIL 2 \ =
| ~ , Surface Bolt Strike #10 X 2.5" PFH WOOD SCREW = 2
= m
i DETAIL 2 DETAIL 2 L 2 W
8 Outswin Inswin o <
—‘ ] / * DETAIL 2, 3 OR 4 & UisWing B - < E
il B \ R S o
| ‘ 2 B
- W - ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW 0. o
4 (TYP) #10 X 2.5" PFH WOOD SCREW COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR nlo >
~J|
£ (P) ] 1/4" X 2-3/4" ELCO OR Surface Bolt Strike IV CONCRETE SCREW =
’ 2" (TYP.) [TW CONCRETE SCREW Plate @ Sill x
1/2" DIA. HOLE ASTRAGAL PIN CAPTURE a
COMPONENT ©
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A’)‘(')SHOR’NG = S , z|3
CONCRETE (MIN. 3000 PSl) « [~ ] S Sluriocgsﬁﬁlf Strike ol 2
WOOD (G >=0.42) NOTE: This anchor required for D.P. > 40 PSF. = E = Plate @ Si HNEEE
= g3 2
— : ] ) a
2 § &
#10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW § :
CONCRETE ANCHOR NOTES: DETAIL 3 DETAIL 4 e
1. Concrete anchor locations at the corners may be adjusted to maintain the min. Inswing Inswing =T
edge distance to mortar joints. il X
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to @}E
maintain the min. edge distance to mortar joints, additional concrete anchors }8 a
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded. \)\ -
3. Concrete anchor table: e #8X2-1/2" PFH WS | #8X2-1/2' PFHWS M
I CLEARANCE T o A oae: 8,/20/12
g , " 4(. o< < 4:. ; SCALE:  N.T.S.
: - R AT PRV R e H .;:> #8 X 3/4" PFH WS #8 X 1"PFH WS R = #8 X 3/4" PFH WS owe. B:  JK
® 1/4" 1-3/4" 2-1/2" 3" ~— 4" X 4" HINGE — 4" X 4" HINGE cHk. BY:  LFS
TAPCON / / / \1 \! DRAWING NO.:
ELCO . . . " TX—4225
ULTRACON®| 1/ 1-3/4 1 3 HINGE DETAIL 1 HINGE DETAIL 2 = B o B
—_— F —_—

@ 2012 R.W. BUILDING CONSULTANTS INC.



